A \
34"
!
g
!

t)/
NO JUMPER

K
REV | NAME DATE DESCRIPTION DRAWN TJG
ot 102022]  \snns
CHKD - »
ENG
APPV -
SCALE NTS B P
APPA LINEMAN RODEO - 2023 R ‘

12KV 1-PHASE PRIMARY VERTICAL DOULE DEADEND
APPRENTICE CUTOUT RELOCATION

DWG. NO.

THE POWER OF COMMUNITY



AutoCAD SHX Text
e

AutoCAD SHX Text
a

AutoCAD SHX Text
b,c,f

AutoCAD SHX Text
b,g

AutoCAD SHX Text
h

AutoCAD SHX Text
d

AutoCAD SHX Text
i,j

AutoCAD SHX Text
a

AutoCAD SHX Text
k

AutoCAD SHX Text
f

AutoCAD SHX Text
b

AutoCAD SHX Text
l

AutoCAD SHX Text
l


ITEM | QTY. | STOCK NO. DESCRIPTION NOTE
a 4 0250050 CONDUCTOR DEADEND CLAMP
b 6 0170124 2” x 2" SQUARE WASHERS
c 1 0170110 20” DA BOLTS
d 2 0250059 HOT LINE CLAMP
e 2 0270009 INSULATOR 15KV POLY SUSPENSION
f 2 0170031 EYE NUTS
a 2 0170105 12” MACH BOLT
h 2 1042166 CLAMP STIRRUP
i 1 0320029 CUTOUT, OPEN TYPE 100 AMP
j 1 0170072 FUSE LINK 80T
k 1 0170106 5/8” X 14” DA BOLT
| 10 0200014 WIRE #4 BARE SOL CU SD

REV

NAME

DATE

DESCRIPTION

DRAWN

TJG

10/20/22

DATE

CHKD -

ENG
APPV -

APPA LINEMAN RODEO - 2023
12KV 1-PHASE PRIMARY VERTICAL DOULE DEADEND
APPRENTICE CUTOUT RELOCATION

SCALE NTS

SHT 2 o 2

DWG. NO.

% BPU

THE POWER OF COMMUNITY



AutoCAD SHX Text
NOTE

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
STOCK NO.

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
a  4   0250050   CONDUCTOR DEADEND CLAMP  4   0250050   CONDUCTOR DEADEND CLAMP  0250050   CONDUCTOR DEADEND CLAMP  CONDUCTOR DEADEND CLAMP  b  6   0170124   2" x 2" SQUARE WASHERS  6   0170124   2" x 2" SQUARE WASHERS  0170124   2" x 2" SQUARE WASHERS  2" x 2" SQUARE WASHERS  c  1   0170110   20" DA BOLTS  1   0170110   20" DA BOLTS  0170110   20" DA BOLTS  20" DA BOLTS  d  2   0250059   HOT LINE CLAMP  2   0250059   HOT LINE CLAMP  0250059   HOT LINE CLAMP  HOT LINE CLAMP  e  2   0270009   INSULATOR 15KV POLY SUSPENSION  2   0270009   INSULATOR 15KV POLY SUSPENSION  0270009   INSULATOR 15KV POLY SUSPENSION  INSULATOR 15KV POLY SUSPENSION  f  2   0170031   EYE NUTS  2   0170031   EYE NUTS  0170031   EYE NUTS  EYE NUTS  g  2   0170105   12" MACH BOLT  2   0170105   12" MACH BOLT  0170105   12" MACH BOLT  12" MACH BOLT  h  2   1042166   CLAMP STIRRUP  2   1042166   CLAMP STIRRUP  1042166   CLAMP STIRRUP  CLAMP STIRRUP  i  1   0320029   CUTOUT, OPEN TYPE 100 AMP  1   0320029   CUTOUT, OPEN TYPE 100 AMP  0320029   CUTOUT, OPEN TYPE 100 AMP  CUTOUT, OPEN TYPE 100 AMP  j  1   0170072   FUSE LINK 80T  1   0170072   FUSE LINK 80T  0170072   FUSE LINK 80T  FUSE LINK 80T  k  1   0170106   5/8" X 14" DA BOLT 1   0170106   5/8" X 14" DA BOLT 0170106   5/8" X 14" DA BOLT 5/8" X 14" DA BOLT l 10  0200014  WIRE #4 BARE SOL CU SD10  0200014  WIRE #4 BARE SOL CU SD0200014  WIRE #4 BARE SOL CU SDWIRE #4 BARE SOL CU SD





	AP Cutout Relocation-DRAWING.pdf
	Sheets and Views
	DRAWING


	AP Cutout Relocation-PARTS LIST.pdf
	Sheets and Views
	PARTS LIST


	Apprentice Cutout Relocation.pdf

